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Exemple avec Tabbing.sty —2

Yvon HENEL

30 juin 2015
1 2 3 4 5 6 7
un deux trois quatre cing
un deux
un deux
un deux
un deux
un deux
un deux
un deux
un deux

\newcommand\TAQ{\ESP\TAB=}

\begin{Tabbing}

\TAQ\TAQ\TAQ\TAQ\TAQ\TAQ\TAQ\TAQ\TAQ\\ \kill

1 \TAB> 2 \TAB> 3 \TAB> 4 \TAB> 5 \TAB> 6 \TAB> 7 \TAB> 8 \TAB> 9\\
un \TAB> deux \TAB> trois \TAB> quatre \TAB> cinqg\\

\TAB+ un \TAB> deux \hrulefill\\
un \TAB> deux \rule{3cm}{1pt} \\
\TAB+ \TAB+ \TAB+ un \TAB> deux \\

un \TAB> deux \\
\TAB- un \TAB> deux \\
un \TAB> deux \\

\TAB< \TAB< un \TAB> deux \\

un \TAB> deux \\
\end{Tabbing}



